This belongs to:

Multiplication Square

Multiply any numbers from 0 to 12 easily using this square. Take your first number from the top and follow down
the column to the second number in your problem - the square where they meet is the answer e.g. 10 x 12 =120.
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0| 1 2 1314|5678 9/(1011]12
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O| 3 (6|9 |12|15[18 2124|277 |30|33]| 36

O| 4| 8 |12|116|20 24|28 32|36 |40 | 44 | 48

O 5|10(15]120 (25|30 (35|40 (45 |50|55 |60

O | 6 | 12|18 |24 |30 |36 |42 |48 |54 |60 | 66| 72

O | 7 | 14|21 28|35 |42 |49 56|63 |70 77| 84

O | 8 (1624|3240 |48 |56 |64 |72|80 88|96

O 9 |18|27 |36 |45 |54 |63 (72|81 ]90 |99 |108

O (1020 |30|40 50|60 |70 |80 |90 |100|110({120

O |11 (22|33 |44 |55|66|77|83]99 (110121132

12| 0 (1224 |36 |48 | 60| 72| 84|96 |108|120(132|144
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